PROBLEM SET 7-2 AND 7-3
(Radical Expressions)

Simplify each expression and rationalize all denominators.

1, J5 40 2. 34 -3/80 3. UCY® -3 2x7ye
4. 5\/2xy6 -2\/2x3y 5. V2 (450 +7) 6. 3(5++/21)

7. 5 (/5+415) 8. ¥4 o 3 Ux 3o

5x* 52 311Xy
10 oy 1L 37x 2 ) oy
1 10 /14
13. 3/9x 14. %/57 15. m
3+3\'/§ 5+%/; 4—2%/5
16. 3{/5 17. 4\/; 18. %/Z
3++/5 V342 4++/6
19. \/g 20. \/g 21. \/§+\/§

22, AJ75+248-5J3 23, J75-418+2432 24.  33/16-43/54 +3/128
25. (2-+/98)(3++/18)  26. (WX +/3)(x + 2\/3_) 27. (25 +3v2)(5v/5 - 74/2)

N

Add or subtract:

1 1 4 4

B 105 145 2. 538 53




